Sketch the curve $y = \frac{x}{1+x^2}$

$$y = \frac{x}{1 + x^2}$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$(1,\frac{1}{2})$$

$$y' = \frac{|(1+x^2) - \chi(2x)|}{(1+x^2)^2}$$

As
$$\chi \rightarrow 100$$
, $y \rightarrow \frac{1}{\chi^2}$
=7 y \to 0 at both ends

$$= \frac{-\chi^{2}+1}{(1+\chi^{2})^{2}}$$

$$y'=0 \Rightarrow -x^{2}+1 = 0$$

-(x+1)(x-1) = 0

$$y' > 0$$
 when $-1 < x < 1 = 7 y$ is increasing

$$y'(0)$$
 when $x(-1)$ and $x(-1) = y$ is decreasing

$$y'' = -2\pi \left(1 + \chi^{2} \right)^{2} - \left(-\chi^{2} + 1 \right) 2 \left(1 + \chi^{2} \right) 2\pi$$

$$\frac{\left(1 + \chi^{2} \right)^{4}}{\left(1 + \chi^{2} \right)^{4}}$$

$$=\frac{-2\kappa\left(1+\kappa^{2}\right)\left(1+\kappa^{2}-2\kappa^{2}+2\right)}{\left(1+\kappa^{2}\right)^{4}}$$

$$= \frac{-2x\left(-x^2+3\right)}{\left(1+\chi^2\right)^3}$$

$$= \frac{2x(x^2-3)}{(1+z^2)^3}$$